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According to the video, are the sentences below true (T) or false (F)?

1. Facebook’s name was slightly different in 2004.
QT-QaF

2. Mark Zuckerberg had just left college when he gave the old interview.
aT-aF

3. Facebook has 2.2 billion monthly active users.
QT-aF

4. Future growth for Facebook will come from outside North America.
aT-aF

5. Facebook will not be able to increase its revenue from North America.
QT-QF

6. Facebook is not currently active in China.
QT-aF

7. Apple and Google have a close working relationship.
QT-aF

8. Apple users would not adopt an Android device to be able to use Facebook.
QT-aF
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